
 2019 Online Exam Review

GCE AS ECONOMICS COMPONENT 1 B520U10-1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 131 4.1 1.9 8 51.6 100
2 131 0.9 0.8 4 21.8 100
3 129 2.8 1.6 6 46.3 98.5
4 131 6.9 3.3 14 49.1 100
5 129 6 2.5 12 49.8 98.5
6 126 1.6 1.3 4 39.3 96.2
7 119 2.7 2 8 33.7 90.8
8 107 2.3 1.3 4 56.3 81
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3. Discuss the extent to which the RNLI can be described as a private good? [6] 


Band 
AO1 AO2 AO4 


2 marks 2 marks 2 marks 


2 


2 marks 
Good understanding. 
 
At least two of the 
characteristics of a 
private good are 
identified and 
understood.  


2 marks 
Good application. 
 
RNLI is applied to two 
private good 
characteristics 
effectively or one done 
well in depth. 


2 marks 
Good evaluation. 
 
A good attempt to 
consider the issue with a 
counter argument and 
judgment on whether the 
RNLI can be considered 
a private good. 


1 


1 mark 
Limited understanding. 
 
Understanding of only 
one characteristic is 
shown (lists of 
characteristics will be in 
band 1). 


1 mark 
Limited application. 
 
RNLI is applied to 
private or public good 
characteristic effectively. 


1 mark 
Limited evaluation. 
 
Some attempt is made 
to qualify, but answer 
lacks development. 


0 
0 marks 


No understanding 
demonstrated. 


0 marks 
RNLI is not used 
effectively. 


0 marks 
One-sided answer or 
evaluation is not 
appropriate. 


 
Indicative content: 
 
AO1 
A private good is defined in economics as "an item that yields positive benefits to people" 


that is: 
 
excludable, ie its owners can exercise private property rights, preventing those who have not 
paid for it from using the good or consuming its benefits 
 
diminishable/rivalrous, ie consumption by one prevents that of another.  
 
Also, public goods are often considered as non-rejectable, so credit rejectable here, users 
could decide to not use or turn down the offer of help. 
 
AO2/4 
In principle, sea-rescue services are excludable – we could only rescue people that had 
paid/taken out insurance. In reality, this would be very difficult to enforce – how would we 
know whether drowning people had insurance? How could we make people pay? 
 
Sea-rescue services are probably likely to be diminishable – if the RNLI is saving one 
person, then they can’t save another. In reality, however, sea-rescue services tend not to be 
used much (although the data mentions the 30,000 rescues, which might suggest some 
competition. 
 
The fact that these services are not supplied through the market suggests that they might be 
difficult to make a profit out of, suggesting that anyone can benefit from using it and the free-
rider problem. 
 
Can users reject being saved?  They maybe injured and unable to make the choice.  



https://en.wikipedia.org/wiki/Economics

https://en.wikipedia.org/wiki/Economics

https://en.wikipedia.org/wiki/Non-excludable_good

https://en.wikipedia.org/wiki/Non-excludable_good
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Sticky Note

Features of a private good are listed, achieving AO1, but the rest of answer does not indicate a good understanding of these features, so it remains as limited understanding.



Sticky Note

The answer starts to drift away from the question, reverting into a public goods debate which could have been one approach for answering the question but it is mainly theoretical, with no use of the information provided.



Sticky Note

There is some judgment as to the extent this can be a private good but it is limited private vs public good without any use of the information. As such, limited evaluation awarded.



Sticky Note

AO1: 1, AO2: 0, AO4: 1.












Sticky Note

The answer indicates limited understanding of a private good but there is some confusion with public goods.



Sticky Note

Although there is some data quoted here, it is not used to support the debate of the features of a private good.



Sticky Note

Some use of the information provided here to support the feature of a private or public good, allowing for limited application.



Sticky Note

Limited judgment on the extent that RNLI is a private good but only limited as the candidate has started to answer overall that it is public good by focusing on one feature understood about public goods - this was a common issue on this question.



Sticky Note

AO2: 1, AO3: 1, AO4: 1.












Sticky Note

Although a concise answer, it does indicate a good understanding of private goods in terms of rivalry and excludability, the candidate initially listing them but then backing them up in their arguments.



Sticky Note

The candidate has tried to use the data to link to a characteristic.  The argument is underdeveloped.



Sticky Note

There is some attempt to qualify the extent to which it is rivalrous.  However, the answer is quite narrow as it only debates the extent that it is rivalrous and is missing an end judgment on the extent that the RNLI can be described as a private good.



Sticky Note

AO1: 2, AO2: 1, AO4: 1.
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6


	 The RNLI receives no money from the government and relies on volunteers for its operations. 
In 2016 it rescued over 30 000 people. It does not charge for its services. It is funded entirely by 
donations.


		  Source: RNLI website


	 Discuss the extent to which the RNLI can be described as a private good.	 [6]


		


		


	


	


	


		


		


		


	


	


	


	


	


	


3.	 Read the information on the Royal National Lifeboat Institute (RNLI) and answer the question 
that follows.


The RNLI is the charity that 
saves lives at sea
We provide, on call, a 24-hour lifeboat 
search and rescue service around the 
UK and Ireland, and a seasonal lifeguard 
service.


With our lifeboats, lifeguards, safety advice 
and flood rescue, we are committed to 
saving lives.
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4 (b) Discuss how useful this elasticity data might be to a private sector firm 
providing home care services in France. [8] 


Band 
AO2 AO3 AO4 


2 marks 3 marks 3 marks 


3 


 3 marks 
Excellent analysis. 
 
Clear explanation of the 
benefits with a well-
developed chain of 
reasoning linked back to 
business decisions 
and/or the benefit for the 
business. 


3 marks 
Excellent evaluation. 
 
Clear judgement of how 
useful the data will be in 
this case with a well-
developed point on each 
side. 
 
Likely to include an 
overall judgment. 
 


2 


2 marks 
Good application. 
 
Makes effective use of 
the data for the home 
care market specifically. 


2 marks 
Good analysis. 
 
Explanation of the 
benefits is made, with 
reference to 
proportionality. 
 
Answer commonly link to 
total revenue without 
depth. 
 


2 marks 
Good evaluation. 
 
A well-developed point is 
made on each side (or 
one point is qualified in 
depth) 


1 


1 mark 
Limited application. 
 
Makes reference to the 
data, often with one 
reference to the home 
care market specifically. 


1 mark 
Limited analysis. 
 
Some explanation of 
benefits is made, but 
development is very 
limited. 
 
Answers commonly link 
to changes in demand/ 
total revenue without 
development. 
 


1 mark 
Limited evaluation. 
 
Some attempt to qualify 
is made, but the 
qualification/counter-
argument is not 
developed. 


0 
0 marks 


Points are wholly 
generic. 


0 marks 
Answer only asserts 
points. 
 


0 marks 
One-sided answer. 


 
  







 


7 
© WJEC CBAC Ltd. 


Indicative content: 
 
AO2 


• The data is for the market as a whole, not for a single firm within it – for a single firm, 
PED is likely to be far higher. 


• Although PED may be inelastic, ethics/regulation may limit how much use the firm 
can make of the information in practice in this case. 


• Similarly, prices may be set by local government. 
• Use of the -0.4 figure directly or use of PED data from previous question to support 


argument. 
 
AO3 


• Clear explanation of how inelasticity can impact on the firm’s revenue (rising for a 
price increase or falling for a price cut), therefore impacting on the firm’s pricing 
decisions and therefore being useful for that reason. Diagrams might be used here to 
illustrate the idea and should be credited fully if well-used. 


• May have wider implications for the business in terms of the extent to which they 
need to focus on costs, worry about competition, and so on. 


 
AO4 
May use AO2 points here (so therefore well-applied points can get both AO2 and AO4). 
 
Also: 
 


• Historic research, market may have changed 
• Likely to be regional variations – data is for the whole of France 
• Likely to be variations by segment – rich vs poor, etc. 
• Accuracy of the data – how was it collected 
• Other data could be useful, such as XED and YED 


 
 
Allow any other relevant point in each AO. 
 
  
















Sticky Note

Good understanding of the PED figure and why it matters though not very analytical yet, but provides the base which it later on refers back to, creating one well explained argument.



Sticky Note

The argument becomes more analytical here, based on a good understanding of the PED figure, although the argument is generic.



Sticky Note

A valid counter-argument is presented. Limited application for the vague reference to the relative expensive nature of health care linked with the home services references throughout.



Sticky Note

AO2: 1, AO3: 3, AO4: 2.







Sticky Note

The argument is not focused on the usefulness of the elasticity figure.
















Sticky Note

Shows some understanding of the PED figure and why that is the case. The answer is mainly knowledge though, rather than analytical, as to why the data is useful for the private sector home.



Sticky Note

Here, the answer moves on and becomes more analytical, with an explanation of an action the private sector firm can take, with  a link to the outcome of total revenue and profit inferred. 



Sticky Note

Evaluation as to the usefulness of the elasticity figure occurs here with two separate points. There is link to the data and industry so this further complements the application.

The answer is missing end judgment comments on the overall extent of how useful the data might be.



Sticky Note

AO2: 2, AO3: 2, AO4: 2.
















Sticky Note

Benefit of the doubt applied here for the limited developed argument on increase or change factor linked with profit and revenue. 

The candidate attempts to qualify the argument and use the data but the statement is not justified.



Sticky Note

AO2: 0, AO3: 1, AO4: 0.
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4.	 According to a study by the University of York, the price elasticity of demand for home care 
services, such as help with washing and cooking, for the disabled elderly throughout France 
was –0.4. The hourly price for such services was around €22.50. The median use of such 
services was 15.5 hours per month.


	 (a)	 (i) 	 Outline what is meant by a price elasticity of demand figure of –0.4. 	 [2]


		


	


	


	


	 (ii)	 Calculate the impact on the expenditure on home care services of the median 
disabled elderly household in France as a result of an increase in hourly prices to 
€27 per hour.	 [4]
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	 (b)	 Discuss how useful this elasticity data might be to a private sector firm providing home 
care services in France.	 [8]
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7. Using the data below and appropriate economic analysis, consider the extent to 
which interest rates appear to have been an effective tool for controlling inflation 
in Australia over the period shown.  [8] 


Band AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks 2 marks 


2 2 marks 
Good 
understanding. 
 
The concepts 
of interest rates 
and inflation 
are both clearly 
understood. 


2 marks 
Good application. 
 
Effective use is 
made of the 
charts, making 
specific reference 
to time periods 
(at least two). 


2 marks 
Good analysis. 
 
Clear explanation of 
how interest rates in 
principle should be 
able to control 
inflation. 
 
Answers in this band 
often refer to more 
than one channel of 
the monetary policy 
transmission  
mechanism. 


2 marks 
Good evaluation. 
 
A well-developed 
counterargument 
is made, 
suggesting why 
the AO3 analysis 
might not be true. 


1 1 mark 
Limited 
understanding. 
 
Either the 
concept of 
interest rates 
or inflation are 
understood. 


1 mark 
Limited 
application. 
 
Charts are used 
indirectly with 
general trends 
identified. 
 
Or one time 
period used 
effectively. 


1 mark 
Limited analysis. 
 
Some explanation of 
how interest rates 
should be able to 
control inflation. 
 
Answers in this band 
often refer to one 
channel of the 
monetary policy 
transmission 
mechanism. 


1 mark 
Limited 
evaluation. 
 
Some attempt to 
qualify is made 
(not just use of 
data), but the 
qualification/ 
couterargument is 
not developed. 


0 0 marks 
Understanding 
is too weak to 
credit. 


0 marks 
Points are wholly 
generic. 


0 marks 
Answer only asserts 
points. 


0 marks 
One-sided 
answer. 
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Indicative content: 
 
AO1 
Understanding will be shown in passing. A definition is not required. 
Interest rates refer to the cost of borrowing money. 
Inflation is the rate of change of prices (not the price level). 
 
AO2 
Periods exist where given lags, interest rate changes appear to impact inflation: 
Increased rates in 2010 appear to link up with a slow-down in inflation. 
Rate cuts after 2012 line up with an uptick in inflation in 2013-14. 
Generally, the link is pretty weak, though – for large periods of time, inflation appears to 
have a life of its own and the data can be used to make this point. 
 
AO3 
Interest rate changes have an impact on inflation via domestic and international channels: 
Consumption will be affected by the cost of borrowing, opportunity cost of savings and asset 
prices. Investment will be influenced too. 
The exchange rate will be affected via capital flows which will impact on both X and M and 
on import prices. 
 
The key to good analysis, though, is an explanation as to why prices will rise more or less 
slowly – what is causing firms to increase or not to increase prices? 
 
AO4 
Clearly, Australian inflation is influenced by a wide range of other factors apart from interest 
rates. Good answers will come up with possible other factors such as: 
QE 
Global demand 
Commodity prices 
Wage settlements and so on 
 
 
Answer is reversible. 
  












Sticky Note

Understanding shown here of interest rates.







Sticky Note

Limited analysis: some analysis of one way that interest rates control inflation.



Sticky Note

Understanding of inflation indicated.



Sticky Note

Reference to the charts to support the analysis on one side of the argument. Here, the data supports the argument on how interest rates can influence inflation. There are two time periods identified which allows good application.



Sticky Note

There is a further reference here to the data that indicates a contrasting data point, supporting the evaluation/balance to come. This further enhances the application of the answer being firmly rooted in the data and starts to evaluate.



Sticky Note

There is some support for the contrasting argument that interest rates are not the only factor influencing inflation.



Sticky Note

AO1: 2, AO2: 2, AO3: 2, AO4: 2.







Sticky Note

Further support for the contrasting argument that the data suggests there are factors other than interest rates affecting inflation.



Sticky Note

Overall, an excellent critical answer which correctly uses the data to support how interest rates can influence inflation at times, but that the data does suggest that, at other times, other factors matter.
















Sticky Note

Shows some understanding of the PED figure and why that is the case. The answer is mainly knowledge though, rather than analytical, as to why the data is useful for the private sector home.



Sticky Note

Here, the answer moves on and becomes more analytical, with an explanation of an action the private sector firm can take, with  a link to the outcome of total revenue and profit inferred. 



Sticky Note

Evaluation as to the usefulness of the elasticity figure occurs here with two separate points. There is link to the data and industry so this further complements the application.

The answer is missing end judgment comments on the overall extent of how useful the data might be.



Sticky Note

AO2: 2, AO3: 2, AO4: 2.












Sticky Note

Statement on interest rates but one that is not then developed to answer the question.



Sticky Note

There is a general trend identified here as to the increased stability of inflation.







Sticky Note

At this stage, there is limited analysis of how interest rates can influence AD but it is relatively generic, with little understanding shown of the theory, and there is a specific reference to the data - given benefit of doubt.



Sticky Note

There is a second specific reference to the data made here with a different time period and assertion as to how interest rates may have caused this.



Sticky Note

The counter-argument is an attempt to provide balance.



Sticky Note

AO1: 0, AO2: 2, AO3: 1, AO4: 1.
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7.	 Using the data below and appropriate economic analysis, consider the extent to which interest 
rates appear to have been an effective tool for controlling inflation in Australia over the period 
shown.


		  [8]
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